4-9F SHSEEFRA AKX EEEFTE G —5ZE4/28) 10-3A RHSFEFRARK I E RETEGAErM— £ E(4/28)
AlB|El KX = £ |#9 i ] = BigE |25 [A|B|EK = & (i = FfE |25
FRERKE—VIHE M (BF=ABISRAINDINRFIZABM [ gpe | 2 RS L BITIWRY—T 8, HF5RBIF—F A FA~C| 9B~ | 2K
4A\1D2S —F AL 3 TS, — . o — .
Y1 B |28 4/9 %ziélizgﬂzzé};,;;,ffg;?i*'%f*fﬁ‘*" 1o (€| |10 2| B | #r—zk2 |YPL L RA~DISR 188 | >
Y ==y NE23 F~ T~ N s = F~ ~
5 [3-af s | PFFISECH [ gt —oo @ ik s TATE] [1o[so] 8] aze [osives v—vm xtezrpmremen | [ET
X 1D2S ST AN —THBLES 95#~‘11B$r EOE| 2 # 11 SISEE =K S b—F A h501%-601K - 701K - 75-80F LI L R A 85~ | 2
5| 14| B |56 HA)—J8|4/20|-+E 11E~18K2E (MBFETIEFE | =5 L1 11| % | £ [BEEEF IR [10/11| TABIZES>TIEI—BETS KHERAR | Tgpe | e
<9) - F 2—Z D RASFER T e
. ) N . 16 26 Ffih— 1B E=>BRA=>SHANGAY—F# IBERIRE | e~ |
6 | 11| g |F42E FRADER|, (|HRERE UNPELUT) A~D NVE |88~ || || L gl FRA—ToRE| | o|F—F AR I~a8 SeEs0s  2HE=aYy | 21E | AR
R—yY KL HREY 212 (F ARIE A FER 1985 | &> 12/158 £Y#%E L—2avvyd JSRFBAREEBRR-RE| 8B~ |
17 G ML) 5HE400% s=gx 1885
. . 1D2S SUFLTH—TBBLES) 128~1985 | 8B~ [ RA 16- H26[E {FFHH— B t(12/16 NoERF-HTBF FE ) 12/172| F~2
7|9 |B|FTR HEV=TRI6/om HmszmimochES iggs (& | | 12|17 EETar—Toxa | oy o [
. BF=S (F5BY—5 — R AUh/ 155288+ 388 D
o8 ~ 18| R FOVEHBEF | |Si-rih LF=DFPRI—T—RBI—F A | g | 5o
7128 &| F=z#FD 6/30|1D2s )—48 HHTEMABFHHGE | g 1] 8| B |FHEFHE |12/8[188 -286-38)  E55S (—AR155-286. 356 2085 | &
; ~ (—BE D7) 50. 60, 70, 75, 80F LIt -HhTDEWS(BKES) HhT -
HIBEIDHISRE  (EHORRE)
SAZFF—ToK SUBNRU—TE) 1Rk —F Ak 2fiib—F Ak | 8B~ | XK ik —4 . . o 8B~ | 2K
N R & [ FEC AN P o e |11 P s UHRER (FREUTS U—TH B Jape | b
TaZTF7A—TUK UG LR G 1h—F AR 2 b—F Ak | 8B~ | R7R EomE Hiky—4 - OfF~ | AR
g [12]1+ 2 D)2 3% TEDKE HE=FE joms (w2 [1]2'] B [m 12/21(1028 S TRV —TREBLES 1885 | 4>
E72E RKR—YE RO Hik-S RER-TE) T |~ (2K FRATRTE|  (TTESIE 28 FRY—TOREEF AN | e~ | 208
“ —— 1/1 z! 143 218 = i
I L EE ) & hiE  HEFE 85 (o | [ 2| 4B e | VIO TRITD AR CPREZERTIEAR ok |1
g21[E F-YH - BAD (119F LT -120F AT -139F LIF-140F U k) Bk | 8BF~ [ XK . o 8B~ | R7R
9 (10| FERA—T 8/10 (- — 694 BT 745 BT -7 9 LT -80F 5LE) | 1085 | o 211 B f=#F3 1/10|1D2S U—4'8 HHFENEFHHEH 188 | o
o [ 16|+ |BILY—T 8 |sr6lxtRate (hpenTsU—sE gz g | 2 18] B (B0 T islives surssm—sm@nne o e
. . . DCFE)—T RN —F AU /18] - 280 38D)
o | 1718 ETERR—YE g/17|0 (FEI—TRESE—F UL 140 280380 | 8B~ | AW sl17] B S4B FF |, J|FR8 BS (—#1#-28-38-40.50, 60, | 8B~ [ R
(— ) S (148 -28-38-4%0) b—F AU NDBA T2 | 188F |+ +—T> 70757 L) FRF &S (—HE1E6- 28838850, | 208F | £
60, 70, 75, 80F LA L)
9 | 18| 4 |H8E HiFU—U¥i[8/18/1D28 SR~ BB RES WENE | 3] 20] ®|micu—om [oaofsamas mpenTs v—w szsz| B (2T
<ERBLUANDEHEEFEXEIEEITLIRE>
4|1 |2 |2ES—CRFE [>—v|RERSKIHETE sl 6 |17]  [porrnmres s RERERBRER g L
7 (31~8/2| AT IMRMTE  [ewe| bAEEE g/aiza~108 PR T [ o | 28| & |[=eanxs|=s|@am- G- BB - e







